Joint Entrance Examination (Main) - JEE(Main)

Paper Name B.E/B.Tech.(Paper I)
Test Date 27-06-2022

Slot SLOT - 2

Lang Bengali

Q:1

Topic Name:Mathematics-Section A
ItemCode:191
9 |z-(4+30)|=2 dRz|+|z-4]|=6.z € C -AF (RIAF MY =

Question:

A 0
B
Cc 2
D

Q:2

Topic Name:Mathematics-Section A
ItemCode:192
a -1 0
ﬁiﬁff{x]= ax a —l).ae

m
=¥

ax axy da

OF -7 (T2 NI WOAR G 2 (10) — £/(5) + 100 = 0 =¥ SICHA A0SR
Question: 71X % =

A 117
106

Ln

B
C 12
D 136

Q:3

Topic Name:Mathematics-Section A

ItemCode:193
4fa=o—ip (TN 1 TM

i I o . 2w =
qix+(1+i)y=0 448 8[cos?+ zsm? x+av=0

° S Nea e awmfds STy OF, oid %ﬁm‘m
uestion:

A 2443
B 2-.3
C 2+3
D

e

Q:4

Topic Name:Mathematics-Section A

ItemCode:194
4fd 4 99 B (G 3 « 3 G TS 4B =1 Lﬂa’s|A|:%|
R |adi (B adi(24))| -9F W= TR

Question:
A 16

B 32
C o4
D 128



Q:5

Topic Name:Mathematics-Section A
ItemCode:195
12

0 30
ff 5-2+2+ 2.2, 0. SR 45-a8 T
Question: 7 1 g 7

Q:6

Topic Name:Mathematics-Section A

ItemCode:196
ﬂﬁ‘_ﬂl-ﬂ:— a3 e AR by, by, bs...... HATEF A0S ATTH, 493
Question: 91~ 2: @10 = 3- aiby=1=aypbyp RN O a,y by -AI AN 2

A 3
27

B

a
= k| b2 =
2 oa|—

[
e |

Q:7

Topic Name:Mathematics-Section A

ItemCode:197

RIE] f{x,]:] %m WIS FIAIT BN T2 m I3
Question: ZTI ST A7 ST<4T 1 2. ST (. ) T
A (3.2)
B (2.3)
c (2.2)
D (3.4)

Q:8

Topic Name:Mathematics-Section A

ItemCode:198

43, [o% WEANA £ IH(6 AGIR (T WAL |
y o
R I t*f(t)dt = sin’ x + cosx oy OLI Lf{L] - T =
Question: cosx '\E -\E
A 6-9\2
B . O
B
2
c 9
" 63
S 642
D

-6

9
¥



Q:9

Topic Name:Mathematics-Section A

ItemCode:199
1

S | m dx NN =67 (CTANH [-] 66 AT SCE)

2], 3

Question:

A 1+6log, (g]

JreC

]

.

Q:10
Topic Name:Mathematics-Section A
ItemCode:1910
T SIqRet STRFFT ( (tan~? 1) —x) dy = (1 +12) dx - TN IF (1, 0)
Question: 13719 2T, 1T 92 AEPA 5o (T R (FIB tan(1) O G FAIE 24

A

[

&

B

o

[ B

Q:11

Topic Name:Mathematics-Section A

ItemCode:1911
T2+ qp? + by + ex + dy + k = 0 WEITS A5, 4) 43¢ e
Ix+y—29=0, 29 C a+b+ec+d+k-g 3

Question:

A 575

B
C 576
D

Q:12
Topic Name:Mathematics-Section A
ItemCode:1912
- T CTSTR WA G C - 42 + 497 — 12x + 8y + k = 0 T8 5l o AH
a3 (1 - %] (37 I0o4 TR TN (SO A, (572 5TS C-47 (1615 =47 -

Question: \ !

A afG == (576

" (o]

C [ﬂm}
9

9

Q:13

Topic Name:Mathematics-Section A



ItemCode:1913
4 1. 2. 4) R "’I" =2 ;1 =2 i eom T AL |
= 2
Question: D4R P [T (U 3x +4y + 122 + 23 = 0-45 4G =71

A 5
B 50
13
C 4
D 63
13

Q:14

Topic Name:Mathematics-Section A
ItemCode:1914
v—6

-“;3 - 3";2: 2‘11 g9 3“2’3: LS. ng (@GR N PAoN GG

Question: 251
A8
V5
B 22
35
c 46

35
D 53

Q:15

Topic Name:Mathematics-Section A

ItemCode:1915

4 5 7 P IF 46 TSe FraEET 8 1ufE 28y

SR (I (A SR AR | 5| =1 498 |5 5| =|ax 5| 1Tm
¢=242 axb|-20 TWSE 7 R A WL SH(C (1T 5
Question: \ /
AT
4
B _T
c 5m
6
D 37
1
Q:16

Topic Name:Mathematics-Section A

ItemCode:1916
4.5.6,6.7.8. %,y (x <) -~ TG A7 (SN TR 6 43 % |5

Question:-T4 *.1'2 -9 AN
A 162

B 320
C 674
D 420
Q:17

Topic Name:Mathematics-Section A



ItemCode:1917
AHTG 9. A(x. ») TH-T56, 20 + x = 6 (LT 42 5x — 6y = 30 (FATRIAT
(5L W0&T ACF O < 1 TSTE TGEA 24 ¢

Question:

>

9!
o w o o

Q:18

Topic Name:Mathematics-Section A
ItemCode:1918

{5

50 L 1
t| Y tan ! | —— || =T;
= ‘ z_‘l i [\1+n+nz )|‘

s

Question:
A28
25
B 25
26
Cc 50
51
D 52
51

Q:19
Topic Name:Mathematics-Section A
ItemCode:1919
Question: INTER (FTH TARFANGH A6 G 2 o = sin 367 ?

A 16x*- 102 -5=0
B 16x*+20x2-5=0
C 16x*—20x2+5=0
D 16x*— 107 +5=0

Q:20
Topic Name:Mathematics-Section A

ItemCode:1920
— = =3 =
Question: [~LBd (<l ﬂi\'&a‘lf"lﬁlb LI DLLENG?

A ((~¢)rp)Ag

B ((~g) Ap)A(p A(~p))

Cc (~g)Ap)V(pV(~p))

D PAQA(~pAg)
Q:21

Topic Name:Mathematics-Section B



ItemCode:1921
4iR5=1{1.2.3.4.5.6.7.8,9.10} |1 &F f : § — § - TR AR &

650 [ 2w ¢ Hr=12:345
1) =
Y l2m—-11 | if n=6.7.8.9.10

4 g 5 — 5950 WoEFS TS

T [n+1 If% 7 gy =Y
|n—1 I n Yo =Y

Question:gﬁi.‘;’,’(m;I (g(1) + g(2) + g(3) + g(4) + g(5)) AN

Q:22
Topic Name:Mathematics-Section B
ItemCode:1922
47 ¥ — 4ix + 5= 0 STRFAE el =7 o, p a8
W= 342+ 23] x4 T+ 3243 =0, 2> 0 TSR AGRT T . 7 |
! : >
Question:ﬂ-ﬁ:_t Bt v=32 TWOW (a+2p+7)? SANH |
Q:23
Topic Name:Mathematics-Section B
ItemCode:1923

4 4 A0 2 « 2 WML I oMM {0, 1. 2. 3. 4. 50-93 7577 | 97 A-9F

esfeia TR 40 G Sl p =W 2 < p < 8. S(F A2 AFIT WIEH
Question: 4-TF (WO A=A |

Q:24
Topic Name:Mathematics-Section B
ItemCode:1924
BRI ‘ P2 ‘ - 7o Tefore a7 $91e< Togs Hmefe
5 b
STE51fETE (A9MEA 030 =W, B #-99 TSI Hf I Sfed (q9rFet =
Question: |
Q:25
Topic Name:Mathematics-Section B
ItemCode:1925
4R [1] =61 SCATEE YA < t 472 {¢} 27 199 ©F N | 097 N I
Gl x = 0-09
. o2 1)1
Flx)=[1+x]+ SCSEHIDT RS A
' 2[x] + {x}
a-2 wrEE |
Question: 3 -
Q:26
Topic Name:Mathematics-Section B
ItemCode:1926
MR p(x) = (], x>0 TMO@ LS + 2099 x = 1 F7we I =
Question: l
Q:27

Topic Name:Mathematics-Section B



ItemCode:1927

(]

M {[ X, ¥):x3 +13 <L x+y20,y2 o1 CFLad (FaTe 4 W, O(F 2264

| r

Question: - AT =2

Q:28
Topic Name:Mathematics-Section B

ItemCode:1928
4Ry = y(x) T NIHT A3 TABAY
[-1 ol |dv = |'.\.1' + [-.1'3 +2)41 = '|.:;=’.1', -l<x<l1

AL (0) = 0~ ST A 1£ [ V1= w(x)ebe=k =g

Question: wiq k_l -

Q:29
Topic Name:Mathematics-Section B

ItemCode:1929
4R 5 AL IFIC IS € x-CFF 16 WAZS |
Ly :4x+ 3y +2 =0 @40 ¢ 3084 (% p M Tw, 438
Ly:3x—4y—11=0, (FUMH L, (T 0 RS SR (& L, @G 0
™00 = ST 1 O 5x— 12y + 51 =0 (4T (A(SH P-IF U9
Question: R B ecure ol

Q:30
Topic Name:Mathematics-Section B
ItemCode:1930
4 5= {E;. Epurrrerrn Eg} (G FIEIN ARIWIE TYACTT IS P(E,) =2 57
n=1.2. ... 8 . 8 G O {Ji c5:P(4) £i} CTCBA ST 5120
Question:-q_‘f!
Q:31
Topic Name:Physics-Section A
ItemCode:1931

Question: L P (SIfSF 4. ST 9FF pascal-secondl &% AGa Wra =3,
A MLTITTY

B [MLTIT?

C [MLT ]

D [MIL3TY

Q:32
Topic Name:Physics-Section A

ItemCode:1932
Hf (AT AT AT 1.5 = 101! ml FrfF (UG A1 (2000)s Z0A. T4
A (ATH (4T =T 9w S0 A1 =4,

Question:
A 245x%x10%m
B 1.45x10"%m
C 145x10°m
D 0.14=10°m

Q:33
Topic Name:Physics-Section A



ItemCode:1933
AF6 ZRA G ATHF OATH 4.9 m OHal (ATF JH(6 61 GiLed (el =l
JATD T Gl = Ha. ©Y I (97 + % 992 Ged N7 v TNE0sT
BUe1 10T ZURF (W06 BT (5T | Ge=y® = S (AP 4.0 s TN FF 16
Question: ZAI0F O (2T 8% ZNGA WIS STSiFwl,

A 19.6m
B 204m
C 392m
D

73.5m

Q:34
Topic Name:Physics-Section A

ItemCode:1934
k T GBI AT TN D [,-99 IF6 ORRIN ~A1e-47 JF06 218 A

98 WG ATST IS (GRS F 9140 m Olad I BH 389 Y
Tor | =t WITeVF ©Itd Wg | 9% IEfT (7 Qs @Iessg S o
Question: (PP (LS AT AN, ST =ARIBA SR =04

A k- mol
o

mw
B mo’l
2

k+mw~

C  mw’l

b
k- mw~

D k+mnl

2
mw

Q:35
Topic Name:Physics-Section A

ItemCode:1935
L (1R 90 I8 AFH0 NS JF BHE ARG (@4 AT ATHS (FH
HH & TF J8 AT (TR 24 | A6 W78 T2, Eit g
SIEEIH « (357 (O] TG0 S0 NS WLIEAG SN NG So=R0sE"
ARSI T [, 2 g1y 26T x- I T

Question:

A 3

B
C 1
D

n

Q:36
Topic Name:Physics-Section A

ItemCode:1936

m GLAR BIAID (ITETF d IMRA JHI0 I50FLA B0 (FICT T (TTF) |
AP JF6 (ST 9 ©F M, 92 CFA6F (FECS A1 =7 574

JIIEHd Efose =3,
it 1

@ o

C i

Question: 1 € d > m



Al %[(4+J§)m+ 4J5M]

B|. %[(4+J§)M +4J§m]

G
Cl.2% 3m2+4\f§M}
G
D -—m[5m3+4ﬁm}
Q:37

Topic Name:Physics-Section A

ItemCode:1937

A6 W STICSTE. 1fG 5191 P, <8 P, (S (AT ROA0R ~ foras =1 |

(YOG (AR
I
é / Pt
(8]
Question: Temperature (7)) —s
B Pi=P;
C Pi=P

D (HAI THNE D~ ZSHE Niel o2 (72

Q:38

Topic Name:Physics-Section A

ItemCode:1938

SR Sifowy SR

A.0°C-(S 51T ST 51fS & =31

BSITS W 515 Y& 1 AT, TU 50T W4 9vg 3@ A7

C.5TTST T SMO A i AT, T4 B3 BI09Y S0 SIoysrar i Fa1

=3

D, PRI STITTE Gl SIS A% Frogy M, 516 sfesfe @;kBT
Question:@'r-?J : 3 F ES 2e.

A A49RC
B B4d5C
C AARRB
D CH4iD

Q:39

Topic Name:Physics-Section A

ItemCode:1939

A= [ ) s B U RO 3 R o o s o o B = 2 1 e s 3 ) |
40% JLAIGIOLD SIFN B G 919219 =T, Ol 90667 A1ANH sforgsr

24|

[ (3T AR, JET667 A1 I = 127°C, FLACGR SFAIF = 327°C.
Question: SR A1 = 2.5 « 104 T kg™!, FIHI AIARRFOIo= 125 Tk K |

A 125 ms!
B 500 ms!

C 250 ms’!



D 600 ms™!

Q:40
Topic Name:Physics-Section A

ItemCode:1940
f
FE (AISIT® T a0 SN TUBAY + = sin 1 e+ %} ol

Question; ! = 15 <. 8 FVH 51 O AT (MW IMR : 1=3.14) -
A Ocms!

B 157cms’!

C 272cems’!

D 314cmys!

Q:41
Topic Name:Physics-Section A

ItemCode:1941

G0 W g IH6 AR DTS 7 (TR (FHCS WIZ FAR
(TG R STNwas e=( fHTT (N6 2A]RS T4

Question:

A 9

E d|

]

€n

C q
deg

D q
ney

Q:42
Topic Name:Physics-Section A

ItemCode:1942
foTa WY, fonG TN WINTF I JH0 JGLE 7P (AP 2m 7H7T

fONIG (@Y g MUT @IS W0 | TSNS 20Y 9 (o5 AF06
SRR (90 516 S0, 9 %A (7 1m.

B, B,

Im

IFH6 HI2S T HNF FOI@ I (foree) A3 (T (TN FfD T WY
Question; NI TS (force) DYATS =4,

A 11
B 1:4
C J3:2

D f3:1

Q:43



Topic Name:Physics-Section A
ItemCode:1943

Question:

A
B
C
D

Q:44

WG o771 STAISATE AFA3 8, =2 . HTR (ATF 10 em YLH WNR I8
AP 4A 472 2A B AJ2S FaTg | A3 46 X-¥ O, x W56

JA194 ©AEe | foaael gF0 [F7P i AHARF ey WaEel 37 $
W T SH0 SN P RAL M 7 (57, 3 7)nvs ofers eifzs =w. )

v

K j I5F YL x 98 y T 999 IFP (0FF | 32 HIL HH
G T T 410~ (—xi 42 ) N 2L x —I9 N 2 [

S, 4A

ll » 2A

] N

Z

Topic Name:Physics-Section A
ItemCode:1944

M L. ¢ £92 R IR WILAA1. 4195Y 493 (d14 S 4. (I 9=16a

Question: N0 (B8 HNHF N4l ATRLG 1?2

A
B

C
D

Q:45

RC
L

l‘.l.—:lﬂ:c
g

Topic Name:Physics-Section A
ItemCode:1945

fte 7 fige e =1 -
{9 — 1 . TN Y AFTS AT OGS TS, AATOTA (HAFFLAT
e 5| TG (R3S OIS ATIGY | T IBI6 OO LA T (IS

CFA [T =01 EM ©% (9al 24 |

R3S - 1. 90 I7 T, IFTE SO FERIT O v = SOTS

oqEs | A

Question:ﬂ% 3 E 35 G 204
A IS 472 RS0 Tonz 7S

B {33fe.1 a3 [RJfe.11 Tonz 5o 7

C e e g [Rgfe-n 51 7w
D Fgfe.1 wfes = (8 [Rgfe-1 Jo

Q:46

Topic Name:Physics-Section A



ItemCode:1946
F6 Ged (@037 =& pl A 2= W5 IAK 70 ©I05] FI6I =4 W=EE
THD SIENE AL =64 18 AR w19l T4 =40 ((6d W) ©d ud
@A Af3E FTFHG ==

‘ Avh

Question:

A L;Wﬁ%?
B Lgmrﬂa*@g
c Lgmﬁg
D L, (& p
Q:47

Topic Name:Physics-Section A

ItemCode:1947
YW IH[6 05 AF0 I+ WETINL [wod Afexizge 7. v+ (@G

Question: 237

A g% (ML, 5118 998 ST Z5 ANl

B ogmr (W1 3 T, 51f© 21 1Y 498 F791%F %9 Al
C g% (M) 4398 511® 2T AT (68 1% % 4L

D g% (T, 5if® 48 T i ATl

Q:48
Topic Name:Physics-Section A

ItemCode:1948
e 7f6 [{i9e rem ==
RIS —1: TF2 TRGNGA L. AAIE [T @ 35 (£,) (S
GEEHITe B (£, AT 073, 5 RIS FTF @O W hf =E, - E, |
R3S — 11. T F5F (A 57 FUF 2@ g A M, soifFs [isar
FNE f = (E, — Ey)/h. 221 (@EI FAF 19 |

Question: OL JT13<k FTIISIT (A,

A f33fe.1 g7 Rgfe-11 Tons sfdsl

B f3gfe. g<s [Rgfe.1 Tonz w6 73
C f33fe. 7fo< 3 [gfe.n 5ifés 7w
D {51 513 ww [ Rgfe-n 13w

Q:49
Topic Name:Physics-Section A

ItemCode:1949
A LE}:I:[E QMT@I}UH HEE @l FIG RUF, YA élﬁ;[.dﬁ WIS HIARA
Question: ALY 2(F

A Ay WL
B N7U& W&

C FIG-OTF WL




D @ L3 BIG-ITF (e

Q:50

Topic Name:Physics-Section A
ItemCode:1950

T T FER POl A I LN Hid =, FE ;

(2) ATGIE WP F PO SIH AN ST 200 2T (I6 IS

AR I NS00 G SIS TN (Rl

(b)IF B SIH AL (FHANG F(FHod BIAHIA! #Ifer o6 ZH
(AT RS P QT SFAY FpIF6 HelFoad N=e Jo1e
BIEL

(TG FAED TP OE OO FNEA M od AN A 0w FF
AT SIS Tl

Question: DNOIT STALHLH GHYS [{FC =41
A IS0 3 5o

B (a). (b) 3% (c) WL OS

C (a). (c) 43¢ (d) WYL O

D (b), (c) 43¢ (d) WY FADH

Q:51

Topic Name:Physics-Section B
ItemCode:1951

10 kg OLIA IBIG IG BT OIS 5 m 7141 AH0 968 (MTT BIIAS (ATH
(RUTEICHT =R 30 N (6 961 T8 5d NHIR[F00 S e NE Ol AT
WI0E | B4 S BITHF A0516 GeIlad ST 6 = tan L(x » 1071) (N FAC, x-
CERC |

Question: (ﬂﬁ. g=10 m/s® a@%& wg @Iqﬁiﬁﬂ\

Q:52

Topic Name:Physics-Section B
ItemCode:1952

Question: o

Q:53

12 kg OUAA B TN 51961 IF6 Footerd p [[IHI® W8 FEA1 3 ke
LA B0 IH A (%7 (91 05 MU 247 ST T| T PR ©F16
TSN =¥, ©1F PQ Noeld Q [F® (Sgt=a Y20®. 5itd oard®d

ST R 1..".1‘3;3} m/ s Old x-A9 I
2

Topic Name:Physics-Section B
ItemCode:1953

0 RHTNUF ST (v = 1.4) 4007 FTE FLI T A6 STUOILS AHHS

Question:ﬁl G2 N . ST F oS Ol SR |

Q:54

Topic Name:Physics-Section B
ItemCode:1954

Question:

AFH6 N G (Ietsifere Sriee =3 g9 fT9[ 8 om 498 o7 fiTm 6
5| FMGA ST T [T (A [T WS HATA [ 9T (0o
S 50D s




Q:55
Topic Name:Physics-Section B

ItemCode:1955
(D YIRPL PIGR oA B I =2/ (57 5191 Afelb it

- = A
CFawd A 2. 92 4104 aiﬂﬂ?‘\a’iﬂ% '13 | x-&T T 15

A

: .
b
l A
|
b
|
o
b
A l
|
b
A l
T
b
I
Question: A
Q:56

Topic Name:Physics-Section B
ItemCode:1956
AF0 (BISTFR O I 7 = 4.0 mm I8 SIR0T AFRIH TN 9GS
« 108 A/m? | STEGT IEST of L
Iy 1.0 x 10° A/m~ | OIdGs WU 91T Wﬁﬁ\aiﬂmr-\ﬂﬁmﬂ

Question: @S SRTENIA xir A T, x—F NI !

Q:57
Topic Name:Physics-Section B

ItemCode:1957
NHIE® TONIT® 2 93¢ m 70 V(AT LFIF | m-A9 N =D JE YA
2

OO (R FLNH 20! x-IF T = [
ma dfm
WA
ma
=AM
At A
——AAANANA——— o
ity a’'m
K
Question: \

Q:58
Topic Name:Physics-Section B

ItemCode:1958
N SIS JH16 [GOLoAT 38 AF0 (Ao 77 OIS JHI5 TN
(BIEFTSRL ST S TW 75 G2 7, TR FMHIC IS N
AT =W, BT L NS .1 2 x- 4K T |

p

Question:

Q:59
Topic Name:Physics-Section B



ItemCode:1959
20 cm CHYTE AF0 4194 R Sa-AAF MF F0I A4 =g 492 7B
HAMCE 20 /s (27 SIfST® 4@ (W T 39 GEsrsad
TS E SAITE W 4 « 107 T 43¢ /A9 (F19 45° | G2 R3HI 09F
Question:@Tﬁ—g emf mV |

Q:60
Topic Name:Physics-Section B
ItemCode:1960
:_:Iﬁ i%\s IELEI EE L] a\:)ﬁlﬂkﬂ. A A, SIS ST PIG-\3P

(OB 0.6 VI 40 Q (@IHF0 MUT 212G Sfored Ml mAl
60 D
6002 s
{t A
Question: v 400

Q:61
Topic Name:Chemistry-Section A

ItemCode:1961

fNEa (@RS FI0 el ST 99F (p) vs STHATS 519 (d) -9
Question: Gl 5{%_‘5?

Ay T

{atm)

d (g em™)
D v T3>T,> T
P &f
(atm) =l
I
X

d (g cm)

Q:62
Topic Name:Chemistry-Section A

ItemCode:1962
Question: PCls fFe e [Rfeaiea Tt oo [T swre w1

A GRS FHFANTT FHFGF sp3d FTFAEN (N (RS =
B p(l.-49 GUTITGS W (Gt fa-Haforsfe)

C PCl.-I9 26 WP T SR, W21 5204 o5 W56 IF~1a g
QiR Gl

D pCl.- 7 fOR(G =R I5Nt A2 SOl A

Q:63



Topic Name:Chemistry-Section A
ItemCode:1963
s 720 [[Yfe (e =g -
91 I STAMIZS ST QIR IR SRt Au(II) —49 ST Sioa
(15T 58 o =

fR3fS 1: T e I9=s afSzrem R[RfG foE wffe ==
Question:ﬁw e Iegesfea St A< Sealt fbfze F4 .

A (Yo 193¢ IS 1 Goaz sioF
B 3o 1 93s 3o 1 Touz gl
C P 190F, e RFFo g

D 331w, (8 [K9fs 1 5o

Q:64
Topic Name:Chemistry-Section A

ItemCode:1964

Question: VBN WERLGITGH TFHAF = SO SLP AL 2277 -
A HCN <H,0 <NH;
B HCN <CH, <NH,
¢ CH,<HCN <NH;
p CH,<NH; <HCN

Q:65
Topic Name:Chemistry-Section A

ItemCode:1965

Question: SN AR ST3H BN .
A Mg? < Na'< F<0F <N~

B N*< 0% < F< Na"< Mg?"

C F<Na <0< .\-—Ig2+'-:2 N

D Na“< F < Mg?" < 0% < N

Q:66
Topic Name:Chemistry-Section A

ItemCode:1966

OGS NIRRT J05 SITNINETY (FRAGE Gy Ja0ed (e
Question:@q.;'“—:‘r > 322_?&?«[ :

A NH;
BNg

p Cl

Q:67
Topic Name:Chemistry-Section A
ItemCode:1967
e 1fo [I3fS ame « 9=l Wi A 93 1 =0fG IS R T ofzel
AIA A-FAN AFI6 ACHEG (O FAI
YIS R: FNMCETNGGIETE T T[N Se= S-S N 438 22
SRS (A 2ETFLELACIDS (O1HS /AT
OHTAY [Rfoaer oans Mg avs Regefs 23rs sfé<w Gadin
Question: fofze wal

A A 49¢ R GTE (35 493 R, A-9 N5 711




B A 495 R OwHA (5% 493 R. A-OF S0 AU (A
C Ao, fog R
D A o, f[FE R

Q:68
Topic Name:Chemistry-Section A

ItemCode:1968
Question:3d CﬁE |E‘® M=T/MO S 4T \9{\5%5@ Ir_‘a\t)(."iﬂ HIATES W 59| 4Ty l?ﬁﬁ :

A Cr
B Fe
C Cu
D Zn

Q:69
Topic Name:Chemistry-Section A

ItemCode:1969

RPN WY 432 57 ©f S f -F56F WG JIN TANZ2G ATIo1e
LT

Question: [1S ATANRE ST : Eu, 63: Sm. 62; Tm, 69: Tb, 65 ; Yb, 70: Dy. 66]
A Eu’” d98 Tm’™

B Sm’ 498 Tm®™

C Tb* 438 YbI©

D Dy’ " ddq8 YboT

Q:70
Topic Name:Chemistry-Section A

ItemCode:1970
FES IINEd O apN OIal (WIBE FANW (9Tt Tonse

A [FeF >~

B. [Fe(CN) I~

C. [L'InCIﬁ]3_ (high spin)
D. [Mn(CN)4]*~

T o Regalt 230 55e Gedt His H -
Question: [ N°® 51321 : Fe =26 : Mn =25 ]
A A<B=<D<C
B B<D<C<A
C A<C<D<B
D B<D<A<C

Q:71
Topic Name:Chemistry-Section A

ItemCode:1971
&P SHITCBICFE RS (NN AP0 (FIATNIZLEI0d WTH [[TENT A 432 B
92 HCl-497 2 3319 (A &rg B 493 ¢ G E = | 5T A, B 4493
Question: C Y-[ERFLN

A HOCL HNO;, Cl,
B Cl,. HNO;. HOCI
C HCIO,. HNO,. HOCl



D HOCL HNO, CLO

Q:72
Topic Name: Chemistry-Section A

ItemCode:1972

Question: [ VLB (HING STHTHEHI (I 55w
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Topic Name:Chemistry-Section A

ItemCode:1973
frea Rfepreg 1y e amfG <2
(i) n—BulLi,

0 -Bu—— —2-CsHjCl GIEGIERYBRIVES
(ii) Lindlar cat, Hy

Question:

A n-Bu
/ :n-Bu

Q:74
Topic Name:Chemistry-Section A
ItemCode:1974
fRtea fRiETrery Seam <A 6 =34
soiEe @fgw — o PnFe 4,

®)Ciy. A g
Question: (chalc’koH W B8

A (|‘l
C=CH,



Q:75
Topic Name:Chemistry-Section A
ItemCode:1975
\Sliaaﬂ I -0 AR @Ilazﬁl I (&S :
SIS 1 SIFST I
oH oH 1. Bryin C5,
i l A emo
=T
Llll': II. Na;Cr,0,/H,80,
B ;,::,'x . r.,._-:;f" :
=1
OH o III. Zn
ot M
o 1 ()
i i
ol OIH IV. CHCl;/NaOH
o el
- S
Br

=W e

Question: VU @ [P5@3feT 22T 5% GG b=® $7 -
A A-IV, B-IIL C-II, D-I

B A-IV.B-III C-I1. D-II
C AL B-III, C-1. D-IV
D A-IV, B-II. C-III. D-I

Q:76
Topic Name:Chemistry-Section A

ItemCode:1976
GIRSTNCAIEN G SIS CgH;(NH,),COOH -49 RUG SSIKY 513174
TSI CFRIAFHETN B HTH ST W A, B 432 ¢l oG =mis
DA A", HRIL WG B8 TR ‘B I8 JF6 WIS B AT <C° (|
Question:@qw C" -9 T

A 63°C
B 90°C

C 104°C
D 142°C

Q:77



Topic Name: Chemistry-Section A
ItemCode:1977

Question:Bmla-N-W (D o7 -
A 1, 3-butadiene-99 HIG (AL AfeTHg
B | 3-butadiene I8 SOIRIATAA MR- AT OICA 221 AT Tl

C 1.3-butadiene 4% \fllil«.ﬂi'l-’%f.ﬂF"H-QllrEﬂ--ﬂﬁ S E 1 b R O e | b R T

D Buna-N-4 S N (IR ATHfoFeng 21

Q:78
Topic Name:Chemistry-Section A

ItemCode:1978

e 723G [Rgfe e =g -
9@ 1. WICEBITE € G=% C -4 TS FED o-D SEIPIG A5 TR A% B2

=
LPRIL [GTH5 *<dll

RS I1: WICFBILG; €, -3 C-d TS HEIG (AT TNFARG 0-D-5FLFG

GR¢ B-D-STEILHIG WITR 98 221 B0 [AGas =164l
T [Rgfoafs s R ore Seawld 230e A% Tadib

Question: bize &4l

A J9fe1 .93 [3fe 11 Sowt B

B 7S 143 (R3S 11 Sonz vl

P B S e fa Pl
C fqgfo1 3. (o3 fRghe 11 gl

D S 1 %, g [yl 1 il
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Topic Name:Chemistry-Section A

ItemCode:1979

SIfFST 1 99 ST SIfHAST I (1S -

SIfFST I SIASTII
A SIHATERGS 1 5 S
B. WGP T1 V<5 A
C. P EAIRGIE 1. 99 S
D. STGINTG IV. ATFEAS T G4 SR

=

Question: VU Y@ [AP5@feT 22T S5 GEAG b2® F7 -

A A-IL B-L. C-IL. D-IV
B A-IIIL B-I. C-IV, D-II
C A-L B-IV. C-I1. D-ITI
D A-L B-III. C-IL. D-IV
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Topic Name:Chemistry-Section A



ItemCode:1980

SIS 1 97 Y OIfAST I (1S -

R GER SIS 1
mH:SO_l—LE]ﬁ 5“%\9 ai&:Eﬁ_ E.ﬂ @[ ?\9 W}

A COx 1 (TG TG FISTOLE S FLd (T 130
ST

B S* 1L WHg® AGIPETT SIELFENIs Fad INF
SIGECS 35S HF (T S|

C. S0, IIL SBT3 TIPS KI 73T NI0d Fd (F
AT cefa

D. NO,- IV. (2 SO T BAGEE (I Ld 8 RN
(4T

Question: (N 2Me Qd’ﬂ@% ZR[® A HPH BRI HIZ® F4 -

A A-IL B-IL C-IL D-IV
B A- B-I. C-IV, D-III
C A-IV.B-lL. C-III. D-II
D A-IV, B-I. C-II. D-III

Q:81
Topic Name:Chemistry-Section B

ItemCode:1981
116 ¢ AT 9Hf6 *mrl [Rrarom [T 7.5 ¢ TRWTGH, 60 ¢
SITSTGH 38 48.5 ¢ FIL G F(AI H. 0 I3 C A7 AFNE o
FRTEEIH 1, 16 418 12

4% B[] HAd [NafEe Srered @
A. CH3COOH

B. HCHO
C. CH;00CH;
D. CH;CHO

Question:

Q:82
Topic Name:Chemistry-Section B

ItemCode:1982

fTBR (PTG T @Resfe [e~ $1 :
n 1 my

Al 3 3 -3

B. 3 2 =2

G 2 1 +1

D. 2 2 +2

Question: O TLAH W< eyvmesfera e

Q:83
Topic Name:Chemistry-Section B

ItemCode:1983

SICHITIR S % ST HF-99 SU% BeO-47 fRIGFT [A] 58 F =3 ©191-
QTR [A] ZE(S [B] 498 SICNINETN FeA12G ATSH Tl
Question: (9T [A]-(5 Be- = TR S¢ YT =7 :

Q:84



Topic Name:Chemistry-Section B
ItemCode:1984
300 K SIUTETY 5 (NTeT RIS SOTSE 10 litre STHSN 23S 20 litre
WIS TASIATT & AT AT, AT AT B HLU5T® AHfF=rer

Tl
(5N Hefe4m

Quesﬁom(ﬁ M8 R =83 JK Imol™! 438 log 2 =0.3010)

Q:85
Topic Name:Chemistry-Section B
ItemCode:1985

75 % 107 kg BT 2.5 » 107 ke BT HAw© SIA S HIT373.535K

SN NTAT Tfors &F H0A T (AT ©F gmoll|
[FEEEN {5 2]
Question: (28 Ky(H0) = 0.52K kg mol™! 438 GLTH STFELAE = 373.15K)

Q:86
Topic Name:Chemistry-Section B

ItemCode:1986
Question: 0.001 M NaOH T pH—<Id N

Q:87
Topic Name:Chemistry-Section B

ItemCode:1987
HE (P

Pt (s) H (2)/H (aq) || Ag"(aq) |Ag (s)
TG E° = +0.5332 V.
Question: Ay GP- AW K mol ! | [N G®w fo?{‘%m

Q:88
Topic Name:Chemistry-Section B
ItemCode:1988
CRT (5108 (F 9 K SI97NTal 3fats ammai~s [RiETs sfesarss uw
3o =3 4T (FeT 27 (G (TG 300 K STorarary =%: 42 [fFwa
Siaer =1 kJ mol |
Question: [[NPBON Yf M) (2MS 1n10 =2.3. R=8.3 TK ' mol ™", log 2= 0.30)

Q:89
Topic Name:Chemistry-Section B

ItemCode:1989

-

-

log ks
m
Intercept = 0.602

_
log p

AHIG TR AAEE BI9 0.03 atm 220 ATS AT AGTIHS HEHMRS

Question: mged . x lﬂ_zgl
Q:90

Topic Name:Chemistry-Section B



ItemCode:1990
FNREM 4R af s (@ g% 9H10 06" F05E 0.25 ¢ AW, 0.40
¢ PeTora (FRES o 5o re @R =rare=r Af{weT |
(PG oN 2efs4m
(S : Ag 438 C1 -7 NIV ©F TAEFCH 108 g mol ! G2 C135.5¢

A
Question: mol ™)




